N = 0l & AF & F Al A

SN S s
HH: A)E2 SESF A4
el AEAEY Y 23 LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
et st 6,462,017 3,627,641 2,834,376
= 2,549,380
s 25,000
= 13,000
& 786,529
Al 3,088,108
aJlEE sE8E =4 6,252,373 3,411,952 2,840,421
= 2,549,380
s 25,000
= 13,000
= 786,529
Al 2,878,464
JEtdsgy =20 2= 3,353,902 1,636,016 1,717,886
= 1,519,040
& 528,213
Al 1,306,649
2SS LA 69,270 29,800 39,470
= 27,708
& 12,469
Al 29,093
402 RIZ2HX =0 69,270 0 69,270
= 27,708
& 12,469
Al 29,093
01 BIZEAI=22 X 69,270 0 69,270
ORMEE ANZS HELM A
69,270,000& 69,270
= 27,708
= 12,469
Al 29,093
s AL 464,808 456,000 8,808
= 232,404
& 69,721
Al 162,683
402 BIZ2HX =01 464,808 456,000 8,808
= 232,404




SN AP s
Ha: A)|ES sEHY X4
o9l AEY=Y B 23 (649l &2
_ _ _ Muo
N33 S2(3H) - MEAMY - BES Aol Ofl At ot HwsZ
402 QI2XHZOIH < 69,721
Al 162,683
01 QIAT=RE 464,808 456,000 8,808
OXBLSAXN T =4 464,808,0008! 464,808
= 232,404
= 69,721
Al 162,683
SENSHF M2sA0% 33,366 11,266 27,100
=2 19,183
Al 19,183
202 01| 38,366 11,266 27,100
= 19,183
Al 19,183
NEEEE] 8,466 8,466 0
OFSNETS S 8,466,000 8,466
= 4,233
Al 4,233
04 =RISH0iH] 29,900 0 29,900
ONEBL dHeleis 5,920,0008! 5,920
= 2,960
Al 2,960
ONEBLR A% 2,900,000} 2,900
= 1,450
Al 1,450
ONETLY H2oi4 21,080,000% 21,080
= 10,540
Al 10,540
Hed RIS S b SHSLA 10,000 10,000 0
= 3,000
Al 7,000
402 QI2XHZO0IH 10,000 10,000 0
< 3,000
Al 7,000
EEEEES 10,000 10,000 0
OXEY RIS SUHHSLHAIL
10,000, 0002 10,000
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SN AEASY
HH: M)|ES SEHE X4
el AEAEY B 23 CRE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 3,000
Al 7,000
TEE A I=Es 7,000 7,000 0
& 3,500
Al 3,500
402 QIZEXE01H 7,000 7,000 0
= 3,500
Al 3,500
01 QIZIXI=22 X 7,000 7,000 0
OFEE SMS MALNIZ S AlY
2,000,000& 2,000
= 1,000
Al 1,000
O stES MM AlY 5,000,000& 5,000
< 2,500
Al 2,500
detdse MEXNE 60,000 60,000 0
= 60,000
307 glztold 60,000 60,000 0
= 60,000
02 QItFAE X 60,000 60,000 0
OXEd sHHA=MAY A 60,000,000 60,000
= 60,000
ELHEHNE X 356,600 260,876 95,724
= 240,480
& 14,779
Al 101,341
402 QIZEXE0lH 356,600 260,876 95,724
= 240,480
& 14,779
Al 101,341
02 QIZtCHEH AL HI 356,600 260,876 95,724
OELMEHM XA 356,600,000 356,600
= 240,480
& 14,779
Al 101,341




SN AEASY
HH: M)|ES SEHE X4
el AEAEY B 23 CRE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
#IE Hlg = K& 546,000 339,490 206,510
= 312,000
= 41,995
Al 192,005
402 BIZ2EX =0l 546,000 339,490 206,510
= 312,000
& 41,995
Al 192,005
02 QIZ2HCHE AL B 546,000 339,490 206,510
ORJIE Hzg == K& 546,000,000& 546,000
= 312,000
= 41,995
Al 192,005
e HME A&E8I| B 7,200 12,000 24,800
& 2,700
Al 4,500
402 QIZHXE01H 7,200 12,000 A4,800
& 2,700
Al 4,500
01 QIZIRI=22 X 7,200 12,000 24,800
OXSZHHME sI&EI| 3= 7,200,000& 7,200
= 2,700
Al 4,500
TA2d NG HER=2 49,851 62,500 212,649
= 34,895
& 7,478
Al 7,478
202 O4Hl 1,978 2,500 AB22
= 1,384
= 297
Al 297
01 3UWAbI 1,978 2,500 AB22
OXA=2XNS =N AlIHA
1,978,000& 1,978
= 1,384
& 297




SN AEASY
HH: M)|ES SEHE X4
el AEAEY B 23 (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 297
307 2IZ2t0lA 47,873 60,000 212,127
= 33,511
& 7,181
Al 7,181
02 BlZtFAE=X 47,873 60,000 A12,127
OXA=2XNS X=X AlIHA
47,873,002 47,873
= 33,511
= 7,181
Al 7,181
dHEZzEee THI K& 1,120 0 1,120
& 560
Al 560
402 QIZEXE01H 1,120 0 1,120
L= 560
Al 560
01 BIZIXI=22 X 1,120 0 1,120
OFNEESHE IE XA 1,120,000& 1,120
= 560
Al 560
=HI&2 SN0 X2 146,740 0 146,740
= 73,370
& 22,011
Al 51,359
402 QIZEXE0|M 146,740 0 146,740
= 73,370
& 22,011
Al 51,359
02 CIZ2HCHH AL HI 146,740 0 146,740
O=HIRE SN X2 146,740,002 146,740
= 73,370
& 22,011
Al 51,359
Z2AXSHsHHI A 900,000 0 900,000
= 500,000




S HSY YD
B AJEE
= _

MIE2 sE8E =
el AEAEY B 23 CRE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
FERNSZsHHRAEH = 200,000
Al 200,000
402 QIEXE01H 900,000 0 900,000
= 500,000
& 200,000
Al 200,000
01 BIZEXI=22 =X 900,000 0 900,000
o9z ad sgeX =4 900,000,000 900,000
= 500,000
= 200,000
Al 200,000
NS ELSII =S MY K& 40,000 0 40,000
& 20,000
Al 20,000
402 QIZHXE01H 40,000 0 40,000
& 20,000
Al 20,000
01 QIZERI22 X 40,000 0 40,000
OXNAEL =ML AE K&
40,000,000 40,000
= 20,000
Al 20,000
BEENd=lI=AY 12,000 0 12,000
= 6,000
Al 6,000
101 el 6,000 0 6,000
= 3,000
Al 3,000
10 JIZtHZ22NSESs 6,000 0 6,000
osgddy 29 6,000, 000& 6,000
= 3,000
Al 3,000
207 Ao 6,000 0 6,000
= 3,000
Al 3,000




SN AEYsY
M M)IES SE8Y X4
Col WHFSY S 23 (B9l &9
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
CIEEEET] 6,000 0 6,000
oA 2% 6,000,000 6,000
= 3,000
Al 3,000
WHARIsWel T 280,000 0 280,000
= 120,000
Al 160,000
402 BIEXHE 0 280,000 0 280,000
= 120,000
Al 160,000
01 DIIR=EE 280,000 0 280,000
OXHIRI ISR THAY 280,000,000 280,000
< 120,000
Al 160,000
OIMESHA 28 SHSLH 33,000 0 33,000
= 13,000
= 10,000
Al 10,000
402 QIZEXHZOIH 33,000 0 33,000
= 13,000
= 10,000
Al 10,000
02 DI2FCHE AL HI 33,000 0 33,000
OUIMSHM 28 HHSLM At
33,000,0002 33,000
= 13,000
= 10,000
Al 10,000
EYAFY 29 7,268 16,501 767
101 Q124 13,268 12,501 767
0 JI2AH2EENSES 13,268 12,501 767
OXEBSY 2A 2 13,268
ool 41,7809 %124 x2332 9,735
oERLY 41,7808+ 12 *482 2,006
oR0ICIZ S AR
11,741,00021 * 13% 1,527
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SN HEASAD
Hu: M)ES sE8Y X4
Col: ABASY B B3 (S92 Q)
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
207 TN 4,000 4,000 0
03 Al oIz 4,000 4,000 0
OELAFA oY 4,000,0008 4,000
M= SAIY 290,679 183,047 107,632
201 syl 49,000 26,500 22,500
01 Al=eld] 28,000 12,500 15,500
CEIEIES =1 17,000,000 17,000
o2gay 9,000,000 9,000
o=l 2,000,000 2,000
02 222 21,000 14,000 7,000
OZZQILMA 3,600,0002 3,600
OAl&EHISXIH] 8,000,000% 8,000
CLEL 2,400,000 2,400
CPIYSEIE 7,000,00084 7,000
202 OfH| 13,179 13,047 132
01 =U§ofHl 13,179 13,047 132
OZAEH Y| 13,179,0002 13,179
203 PeEXY| 3,000 2,000 1,000
03 ANHENISEG] 3,000 2,000 1,000
OHEB=Y HUZZ AR
2,000,000% 2,000
O=EMBSANL YREX 1,000,0008 1,000
206 T2l 10,000 10,000 0
01 M=l 10,000 10,000 0
OXSBAAYSX MEPY 10,000,00024 10,000
301 YPrEA3 1,900 1,500 400
10 SAFAHI2AZ 1,900 1,500 400
OXHASY T - ZAUS DSHAL A
Bl A 1,200,0008 1,200
OXHASY Z2H- ZVWIIS HAK A
Bl A 700,0008 700
307 QI2t0|A 10,000 10,000 0
02 PIAAMBE 10,000 10,000 0
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A ES 5ESY X4
SQF202 54 (5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
401 AlZHILL O Al 90,000
01 Al&Y] 294,000 0 294,000
O A Y ALY 294,000, 000! 294,000
2 147,000
= 58,800
Al 83,200
02 22l 6,000 0 6,000
O A Y A 6,000,000 6,000
2 3,000
= 1,200
Al 1,800
405 RarE S 700,000 55,000 645,000
2 350,000
= 140,000
Al 210,000
01 KALSEFHSH] 700,000 55,000 645,000
O H Y ALY 700,000, 000! 700,000
= 350,000
= 140,000
Al 210,000
UEY S2H =) ZSAL 119,800 102,600 17,200
= 44,580
Al 75,220
402 RIZHXHEOIH 119,800 102,600 17,200
= 44,580
Al 75,220
01 CIAR=EEZE 119,800 102,600 17,200
OCteE AZI| 23 (500) 25,000,0002 25,000
= 7,500
Al 17,500
onex e 2l 22 (800)
43,200, 0002 43,200
= 21,600
Al 21,600
O=53 T8I 23(20H) 51,600, 0002! 51,600
= 15,480
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AN BN
HH: M)|ES SEHE X4
ol =S |4 (ol a e
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OsJIH nNEEAAMY 3,120
cHFOEI)I=N= 3,120,000& 3,120
= 1,560
Al 1,560
=8 JlsEag K& 24,000 9,457 14,543
& 12,000
Al 12,000
402 RIZ2HX =0 24,000 9,457 14,543
& 12,000
Al 12,000
01 QIZEXI22 X 24,000 9,457 14,543
OEXZ M= &IIE XA
24,000,000 24,000
= 12,000
Al 12,000
S=sSHEZHHZ MK 100,000 120,000 A20,000
= 50,000
Al 50,000
402 RIZ2HX =0 100,000 120,000 A20,000
= 50,000
Al 50,000
01 QIZIRI=22 X 100,000 120,000 A 20,000
OZ=8Z 2HMoiZ UHXA
100,000, 000& 100,000
= 50,000
Al 50,000
HEZAJ|ISFHI 44,000 0 44,000
= 22,000
Al 22,000
405 KHeHE SHI 44,000 0 44,000
= 22,000
Al 22,000
01 XML EEHSHI 44,000 0 44,000
OEH F2(UE) 38,000, 000& 38,000
= 19,000
Al 19,000
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HE: MBS SE28Y XY
o9 SES0IY S (£ @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
ONYSIBI ¢ HAHI 7
6,000, 0002 6,000
2 3,000
Al 3,000
S| Hzsl 2l X 40,000 31,000 9,000
206 Mzl 30,000 31,000 A1,000
01 Mzl 30,000 31,000 1,000
OsJIHEs s 2B XL 30,000,000 30,000
402 QI2XHZOIH 10,000 0 10,000
01 AT=LZE 10,000 0 10,000
oUsATI| N 10,000,000 10,000
=olol NEK SAN 10,850 0 10,850
= 1,736
Al 9,114
307 QI2HO0IF 10,850 0 10,850
= 1,736
Al 9,114
VEEI=PIEES 10,850 0 10,850
CE-LIPNESE! 10,850,000 10,850
= 1,736
Al 9,114
=M NS 23,960 0 23,960
= 11,980
Al 11,980
201 gr2g| 6,310 0 16,310
=2 8,15
Al 8,155
01 At 22l 16,310 0 16,310
OMHY s&HDS 8,000, 0002 8,000
2 4,000
Al 4,000
OEsg 4518 N 2,000, 0002 2,000
2 1,000
Al 1,000
OGPPSO DS 1,310,0002 1,310
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SN ARSI

M M)|E2 SEHY XY
o9 seDlSNHY U BYPE 29 (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
= 1,500
Al 1,500
401 A& HIL=2OYI 10,000 0 10,000
= 5,000
Al 5,000
01 Al&HI 10,000 0 10,000
OXZH20ts SAE A& &X
10,000,000& 10,000
= 5,000
Al 5,000
AHsts@=2S 7,000 0 7,000
206 Tzl 2,000 0 2,000
01 XZHl 2,000 0 2,000
OXcHstsd 29 a7 2,000,000& 2,000
401 AIEHIZL 2O 5,000 0 5,000
01 Al&HI 5,000 0 5,000
OXsI&d B 5,000,000& 5,000
e EsEE MHIA 10,808 11,114 A 306
= 9,000
Al 1,808
101 el H] 8,358 5,000 3,358
= 8,000
Al 358
10 JIZAH22ASES 8,358 5,000 3,358
OustdsHHEMHIA 8,358,000& 8,358
= 8,000
Al 358
206 = Hl 2,450 6,114 A3,664
= 1,000
Al 1,450
01 MZHl 2,450 6,114 A 3,664
OnstdsHFMEIA 2,450,000& 2,450
= 1,000
Al 1,450
s3dR=Y 2Z 24,800 24,000 800




A s
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HH: AJ|ES SEHY X
20

Sl seDlBNY L BYRH 29 (S5 & 2)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
101 oIty 4,800 0 4,800
10 JIAMZ2HSES 4,800 0 4,800
OsZRED MO e
32,0002 *5% *302 4,800
201 syl 3,000 2,000 1,000
01 AR el 2,000 2,000 0
CHEES=11 2,000,0002! 2,000
;2 T2 1,000 0 1,000
OZBRIUAA 1,000,0002! 1,000
206 &I 2,000 2,000 0
01 =t 2,000 2,000 0
O5ARSURY WETY 2,000,000 2,000
401 AlEHIL O] 15,000 20,000 5,000
01 AI&H] 15,000 20,000 5,000
CEEEEInER 15,000, 000! 15,000
NS RLAL 29 52,600 42,969 9,631
101 oIty 9,600 5,969 3,631
10 JAHIENSE 9,600 5,969 3,631
OSAMLAIL 5124
32,0002 #52§ x302 4,800
OSAMBAL B+ HAL B2
32,0002 *5% *302 4,800
201 L2yl 5,000 1,000 4,000
01 A= ell 1,000 0 1,000
CHEES=1i] 1,000,002 1,000
;2 T2 4,000 1,000 3,000
OZZRI LA 1,000,0002 1,000
o2 3,000,0002! 3,000
206 MEHI 12,000 10,000 2,000
01 M=t 2,000 10,000 2,000
OsAMLAS 2 d 4,000,0002 4,000
OsENY SEH o MHaPe
2,000,0002! 2,000
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